C:h Solving with Parenthesis

Name:
Solve each of the problems. Answers
1) (9x4)+7=
1.
2) 7%x(14-7) = 2.
3.
3) (M4+7+2=
4,
4) (8 + 1) +8= :
5 (39+1)+10= 6.
7.
6) (2x3)-6=
8.
7) 4+4)-7= o
8 (27+9)x9= 10.
11.
9) (70+10)-4 =
12.
10 =
) (7+8) x5 13.
11) (13-9)+7= 14.
15.
12) (39-15)+3=
13) (14-3)-4=
14) (10x8)+15=
15) (3 X 9) X 3=
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Solving with Parenthesis

Name:

Answer Key

Solve each of the problems.

D (9x4)+7= 51l (36)+7
) Tx(14-7)=_ 49 7x(7)
Y U+7)+2= 4 (2)+2
4 (8+1)+8= 17 (9+8
9 (39+1)+10=_ 4 (40)=10
6 (2x3)-6=_ 0 (6)-6

N 4+4-7= 1 (8-7

8§ (27+9)x9=_ 27 (3)x9
9 (70+10)-4= 3 (7)-4
10) (7+8)x5=_75 (15)x5
1) (13-9)+7=_ 11 (4)+7
12 (39-15)+3=_ 8 (24)=3
13 (14-3)-4= 7 (11)-4
14) (10x8)+15= 95 (80)+15

15 B3x9x3= 81 (27)x3
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C:h Solving with Parenthesis

Name:
Solve each of the problems. Answers
3 95 1 27 0
8 7 49 11 4 1
17 4 5rl 75 81
2.
D 9%x4)+7=
3.
2 Tx(14-7) =
4,
3 (14+7)+2= .
4 (8+1)+8= 6.
7.
5 (39+1)+10=
8.
6) 2x3)-6=
9.
7 7=
) (@+4)-7= 10.
8 (27+9)x9= 11,
9 (70+10)-4= 12,
13,
10) (7+8)x5=
14,
1) 13-9+7=
15.
12) (39-15)+3=
13 (14-3)-4=
14) (10x8)+15=
15 3x9)x3=
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